
B

C

D

F

J

G

K

H

L

M

N

O

P

Q

R

E

I

A

1

BC

D

E
F

G

H
I

J

K

L

M

N

O

P

R

Q

A

( 2 ) Top Horizontal Tube

( 4 ) Cross recessed
pan head screw

( 4 ) M6 x 12mm Cross 
Recessed Flat Head Screw( 4 ) 1/4" Flat Washer

12/20221

Figure 2

Figure 1

Shelf ( x1 )
Nylon Lock Nut  

( x4 )

Flat Washer  
( x4 )

Top Horizonal Tube  
( 2x )

Hex Screw  
( x8 )

Side Underframe  
( x2 ) Install the underframes and the shelf. Use  

5/16–18" x 11/2" hexagon screws to install the 
top horizontal pipes and use 5/16–18" x 11/2" 
hexagon screws, flat washers, and nylon lock 
nuts to fix the shelf. See figures 1 & 2.

1

( 2 ) Caster without  Break

( 2 ) Caster with Break

( 4 ) M6 Flange Nut

( 4 ) M6 Flat Washer

( 1 ) Top Storage Compartment

( 1 ) Top Cover Plate

( 1 ) MS743 Lock

( 1 ) Drawer Box

( 8 ) 5/16" Flat Washer

( 8 ) 5/16–18" Nylon Lock Nut

( 12 ) 5/16–18" x 11/2" Hex Screw

( 4 ) 1/4–20" Nylon Lock Nut

( 1 ) Shelf

( 2 ) Side Underframe

PARTS

MOBILE RECEIVING DESK - 257RD2224C

ASSEMBLY INSTRUCTIONS



Figure 5

12/20222

Figure 6Nylon Lock Nut  
( x4 )

Flat Washer  
( x4 )

Drawer Box  
( 1x )

Cross Recessed 
Pan Head Screw ( x4 ) Install the drawer box. Fix the box to 

the under frames with  1/4–20" x 11/2” 
cross recessed flat head screws, flat 
washers, and nylon lock nuts. See 
figures 5 & 6.

3

Figure 4Figure 3 Nylon Lock Nut  
( x4 )

Flat Washer  
( x4 )

Hex Screw 
( 4x )

Square Stem PU 
Wheel Caster with  
Side Break ( x2 )

Square Stem PU 
Wheel Caster ( x2 )

Install the casters. Turn around the 
assembled under frames, insert the 
square stems of the casters into the 
square tubes, align the holes, and fix 
with 5/16–18" x 11/2" hexagon screws, 
flat washers, and nylon lock nuts. 
See figures 3 & 4.

2

MOBILE RECEIVING DESK - 257RD2224C

ASSEMBLY INSTRUCTIONS



12/20223

ASSEMBLY COMPLETE

Figure 8Figure 7 Flange Nut 
( x4 )

Flat Washer  
( x4 )

Cross Recessed 
Flat Head Screw ( 4x )

Top Cover 
Plate ( x4 )

Top Storage 
Compartment ( x1 )

Install the top cover plate and the 
top storage compartment. Use M6 
x 12mm cross recessed flat head 
screws, flat washers, and nylon lock 
nuts to fix the top cover plate and 
the top storage compartment to the 
drawer box. Turn up the cover plate 
when installing the screws for conve-
nient assembly. See figures 7 & 8.

4

MOBILE RECEIVING DESK - 257RD2224C

ASSEMBLY INSTRUCTIONS


